
Title 
      G:BOX Mini Monitor Mount 

Quick Guide 

  Components 
1. 1 x G:BOX Mount bracket 

2. 1 x Monitor Mount bracket 

3. 1 x Monitor Mount spacer 

4. 4 x M4x16 Screws 

5. 8 x M4x12 Screws 

6. 4 x M4x8 Screws 

1. Remove the sticker from the front of the top 
cover. 

2. Using 4 of the supplied M4x12 screws, attach the 
mount to the top cover as shown. 

3. Carefully place your monitor face down on a clear 
surface taking care not to damage the screen. If 
the VESA mount on the monitor is recessed it is 
recommended that you use the supplied spacer 
between the monitor and the Monitor Mount 
bracket. 

4. Using either the supplied M4x12 or M4x16 
screws (dependant upon whether using the spacer 
or not), attach the Monitor mount (and possibly 
spacer) to the back of the monitor as shown. 

5. Lower the monitor onto the G:BOX Mount 
bracket and secure at the sides of the bracket 
using the 4 M4x8 screws. 

 

  Attaching the mount 

 

1. The G:BOX Mini mount is designed for up to 7kg. Any increase on this could cause 
damage to the top cover. 

 

 Additional Safety information  

1 

1 

2 3 

6 

5 

4 

 CONTACT SYNGENE: 
 EUROPE:   USA: 
 Tel: +44 (0)1223 727123  Tel:  800 686 4407/301 662 2863 
 Email: support@syngene.com                 Email: support@syngene.com 
                                                                                www.syngene.com 

GBMM1117 
                                         

http://www.syngene.com/

